il
W
St
%
I

1. TE4
THE4 R 6 R HIEFR ERHI R E L5
THEHA BEREBERERTETFIT4540—5 BERHERN
2. THEHNE
1)  HEI4 KB ERE BT s KR
2) £ I & MR TR
3) T i 310 H H F0 T4 3H2TH
= SFn 84 1H30H
4) TEyE

ELAma  JuN TR )R




il
W
>
%
I

T#H4 | R6ERHRFTFEERMIIRE TH

THX 4y - THE - flR B {7 ¥ = & # il pall 2! R
TR (PR HLA) X 1 40, 716, 800
IR i =X 1 40, 716, 800
e X 1 34,080, 800 |FEENREFEILE R EBARALIL ) 1 B
62 5kVA ¥a-t IV IREREHY ;
BE 12 fid
MSE-150-2 ;
TRIEE R 1 &
55dBLATF
BERS 71 1 #a
FUNT A, R IVE T
SRS A 1 A
950L ZREfx
PRBIE V77 1 il
JRPNEEHAL
RS AR V77 2 &
0.4kW FHEETr ;
PRBHRHE /7 1 =
0. 75kW FR¥EE T
R 1 #H.
IRERET 0. 75kW 2B 16 (RN (T X
JR AN 1 =)
950L ﬁMH%
IR 52 28 B Rk i =X 1 5,350, 000 | IR £ 2 1 it}
ENASA
45 FE FE R AR (i =X 1 1,286,000 | 4 AR IR 4L 1 5
5kVA ;
Hhas B INE X 1 40, 716, 800
B i = 1 9,976, 494
IR L = 1 9, 482, 994

-1- E ta2@d Ui




il
W
St
%
I

T#H4 | R6ERHRFTFEERMIIRE TH

TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! R
FE B AR E L X 1 4,002,470 | FEERELE BRI 1 =)

B =T ;

PRAE N R 1 =

PBRBIE 7" il f 1 i}
REHM

PRBE R /7 AT 1 =
15H;

PRBE R /7 AT 1 =
2EELUBMIESD

PRBLER R /7 AT 1 =
2EELUBMIESD

R TR R 1 L
PASRE iR

JR AN R R 1 =

HEMEC R T 1 2V

Bl T 1 2V
RIESZEERIE BT

Bl g L 1 F2V
RIESZEERIE BT ;

B i % & T 1 2V
RIESZEERIE BT ;

EE+T (ER) 1 X

FE B E L 2 1 1,340,572 | FEHREILERE 1 A

PER v #2s 1 &
15H;

TR B R TR R S 1 i}
1mAe ;

TR AR R 1 i}
2 BLUBERIES D

PRAEHTE S 1 A

wRI TS 1 i)
2B 14 ;

(S VAV (&N 1 =)
215 BHLUBERHIES D

-2 - E ta2@d Ui




il
W
St
%
I

T#H4 | R6ERHRFTFEERMIIRE TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
B T 1 =X
RIEZEERE &L ;
B A4 S (BB R 1 X
FIEZEEXRE BT
TS 28 R i e i L =X 1 3,692,900 | FEIEIHALS [T aeHEHa R 1 il
7 34 BA PH 2 Bf 1 i}
REHM
B 5 AR EUT 1 i
REHM
T A BRI E L X 1 381,635 | HBABH AR E 1 =
5 A Sz B 1 i
B4 1mAE ;
AR ST G 1 i}
B4 2 HUBHIES D
BRI A 1 i}
[REAVMSHES 1 =
A3y MV AR 1 =)
B S AR AR & 1 i}
REHM
LARE 3 {18
PCSHfZ= 3 1=
5 AR 1 %N
Bl S T 1 =
{5 B FEIR AR aR & L = 1 65, 417 | M B8 TR R i i 1 =
B fg L 1 F2
T8 g T 2 1 493, 500
fifik T = 1 493,500 |f@% (BX) 1 X
RN X =X 1 9,976, 494
IR & =X 1 790, 660

-3 - E ta2@d Ui




T#H4 | R6ERHRFTFEERMIIRE TH

THEXSy - THE - FE5 H7 & & # i Gl 2 N

e Tre: X 1 3, 660

e sty = 1 3,660 |EARIBEHMREEEEMT -IERE 1 =«
sty (R L) 2V 1 787, 000
R e E20 1 10, 767, 154
e R E20 1 3,913, 000
HeaR Mty 2V 1 4, 667, 000
Boifr & bt 2V 1 181, 000
ResnE me 2V 1 4, 486, 000
T AT 2V 1 19, 347, 154
— e PR E20 1 3, 906, 046
Tk 2V 1 63, 970, 000

-4 - E ta2@d Ui




